

Nguyen Thanh Long, Nguyen Hoi Nghia,
Nguyen Kim Khoi, Dinh Van Ruy

ON A SYSTEM OF FUNCTIONAL EQUATIONS

1. Introduction

We study the following system

$$(1.1) \quad f_i(x) = \sum_{j=1}^n \sum_{k=1}^m a_{ijk}[x, f_j(S_{ijk}(x))] + g_i(x),$$

for $i = 1, 2, \dots, n$ and $x \in I \subset R$, where I is a bounded or unbounded interval. The given functions $g_i : I \rightarrow I$, $a_{ijk} : I \times R \rightarrow R$ are continuous, f_i are unknown functions. Using Banach fixed point theorem, we prove the existence and uniqueness of solution of the system (1). The obtained solution is also stable with respect to the functions g_i .

In [1], the system (1.1) is studied with $I = [-b, b]$, $n = m = 2$, $S_{ijk}(x)$ binomials of first degree and

$$(1.2) \quad a_{ijk}(x, y) = \tilde{a}_{ijk}y,$$

where \tilde{a}_{ijk} are real constans. The solution is approximated by a uniformly convergent recurrent sequence, and it is stable with respect to the functions g_i . In [2], [3], [4] the existence and uniqueness of solution of the functional equation

$$(1.3) \quad f(x) = a(x, f(S(x)))$$

in the functional space $BC[a, b]$ is studied.

In this paper, by using the Banach fixed point theorem, we obtain the existence, the uniqueness and also the stability of the solution of the system (1.1) with respect to the functions g_i , where $I = [a, b]$ or I is unbounded interval of R . In the case of a_{ijk} like in (1.2) and $S_{ijk}(x)$ being the functions of first degree and $g \in C^r(I; R^n)$, $I = [-b, b]$, we obtain a Maclaurin expansion of the solution of the system (1.1) until the order r . Furthermore, if $g_i(x)$ are the polynomials of degree r , then the solution of the system (1.1)

is also the polynomial of degree r . The obtained result is a generalization the results in [1]. We also give the numerical calculation on some examples.

2. The theorems on existence, uniqueness and stability of solution

With $I = [a, b]$, we denote by $X = C(I; R^n)$ the Banach space of the functions $f : I \rightarrow R^n$ continuous on I with respect to the norm

$$(2.1) \quad \|f\|_X = \sup_{x \in I} \|f(x)\|,$$

where

$$\|f(x)\| = \sum_{i=1}^n |f_i(x)|, \quad f = (f_1, \dots, f_n) \in X.$$

When $I \subset R$ is an unbounded interval, we denote by $X = C_b(I; R^n)$ the Banach space of the functions $f : I \rightarrow R^n$ continuous, bounded on I with respect to the norm (2.1).

We write the system (1.1) in the form of operational equation in X as follows

$$(2.2) \quad f = Tf,$$

where $f = (f_1, \dots, f_n)$, $Tf = ((Tf)_1, \dots, (Tf)_n)$ with

$$(2.3) \quad (Tf)_i(x) = \sum_{j=1}^n \sum_{k=1}^m a_{ijk}[x, f_j(S_{ijk}(x))] + g_i(x), \quad i = 1, 2, \dots, n, x \in I.$$

We admit the following hypotheses:

(H₁) $S_{ijk} : I \rightarrow I$ are continuous,

(H₂) $g \in X$,

(H₃) $a_{ijk} : I \times R \rightarrow R$ are continuous and satisfy the condition: there exists $\tilde{\alpha}_{ijk} : I \rightarrow R$ bounded and nonnegative such that

$$(2.4) \quad |a_{ijk}(x, y) - a_{ijk}(x, \tilde{y})| \leq \tilde{\alpha}_{ijk}(x)|y - \tilde{y}|, \quad y, \tilde{y} \in R, x \in I,$$

Denote

$$(2.5) \quad \alpha := \sum_{i,j=1}^n \sum_{k=1}^m (\sup_{x \in I} \tilde{\alpha}_{ijk}(x)) < 1.$$

THEOREM 1. *Under hypotheses (H₁)—(H₃), there exists a unique function $f \in X$ such that $f = Tf$. Moreover, f is stable with respect to g in X .*

Proof. It is evident that $Tf \in X$, for every $f \in X$. Considering $f, \tilde{f} \in X$, we easily verify, by (H₃) and (2.5), that

$$(2.6) \quad \|Tf - T\tilde{f}\|_X \leq \alpha \|f - \tilde{f}\|_X.$$

Then, using Banach fixed point theorem, we have the existence of unique $f \in X$ such that $f = Tf$.

Consider f and \tilde{f} from X being two solutions of (2.2) corresponding to g and \tilde{g} from X , respectively. By the analogous evaluation, we have

$$(2.7) \quad \|f - \tilde{f}\|_X \leq \frac{1}{1 - \alpha} \|g - \tilde{g}\|_X.$$

Hence, f is stable with respect to g .

Remark 1. Theorem 1 gives a consecutive approximate algorithm

$$(2.8) \quad f^{(\nu)} = Tf^{(\nu-1)}, \quad \nu = 1, 2, \dots, \quad f^{(0)} \in X \text{ given.}$$

Then the sequence $\{f^{(\nu)}\}$ converges in X to the solution f of (2.2) and we have an evaluation of the error

$$(2.9) \quad \|f^{(\nu)} - f\|_X \leq \frac{\|Tf^{(0)} - f^{(0)}\|_X}{1 - \alpha} \alpha^\nu, \quad \nu = 1, 2, \dots$$

Consider now the case of $a_{ijk}(x, y)$ of form (1.2) and denote

$$(2.10) \quad \beta := \sum_{i,j=1}^n \sum_{k=1}^m |\tilde{a}_{ijk}| < 1.$$

THEOREM 2. Suppose that (H_1) , (H_2) hold. Then there exists a unique function $f = (f_1, \dots, f_n) \in X$ being the solution of the following system

$$(2.11) \quad f_i(x) = \sum_{j=1}^n \sum_{k=1}^m \tilde{a}_{ijk} f_j(S_{ijk}(x)) + g_i(x), \quad i = 1, 2, \dots, n, \quad x \in I.$$

Moreover, the solution of (2.11) is stable with respect to $g = (g_1, \dots, g_n)$ in X .

Proof. We apply Theorem 1 for $a_{ijk}(x, y) = \tilde{a}_{ijk}y$. Then $\tilde{\alpha}_{ijk} = |\tilde{a}_{ijk}|$ in (2.4) and $\alpha = \beta < 1$, by (2.5), (2.10).

Remark 2. Let $S_{ijk}(x)$ be the binomials of first degree

$$(2.12) \quad S_{ijk}(x) = b_{ijk}x + c_{ijk}$$

and $I = [-b, b]$. Suppose that the real numbers b_{ijk}, c_{ijk} satisfy the condition

$$(2.13) \quad |b_{ijk}| < 1, \quad i, j = 1, \dots, n, \quad k = 1, \dots, m,$$

$$(2.14) \quad \max_{\substack{1 \leq i, j \leq n \\ 1 \leq k \leq m}} \frac{|c_{ijk}|}{1 - |b_{ijk}|} \leq b.$$

Then (H_1) holds.

THEOREM 3. Suppose that $I = [-b, b]$, the real numbers $\tilde{a}_{ijk}, b_{ijk}, c_{ijk}$ satisfy (2.10), (2.13), (2.14) and $S_{ij}(x)$ are of the form (2.12). Then, for each

$g \in X$, there exists a unique $f \in X$ being the solution of the system (2.11). Moreover, this solution is stable with respect to $g = (g_1, \dots, g_n)$ in X .

Remark 3.

(i) The result in [1] is a special case of Theorem 3 with $n = m = 2$.

(ii) Theorem 3 is true for $I = R$ and in this case the terms b_{ijk} , c_{ijk} need not satisfy the conditions (2.13), (2.14).

3. Maclaurin expansion of the solution

From here, we consider $I = [-b, b]$ and the numbers \tilde{a}_{ijk} , b_{ijk} , c_{ijk} as in Theorem 3.

Suppose that $g \in C^1(I; R^n)$ and $f \in C^1(I; R^n)$ is the unique solution of the corresponding system (2.11). Differentiating two members of (2.11), we obtain

$$(3.1) \quad f'_i(x) = \sum_{j=1}^n \sum_{k=1}^m \tilde{a}_{ijk} b_{ijk} f'_j(S_{ijk}(x)) + g'_i(x), \quad i = 1, 2, \dots, n, x \in I.$$

Let $f'_i(-b)$ and $f'_i(b)$ mean the forward derivative at $-b$ and the backward derivative at b of f_i , respectively. Put

$$(3.2) \quad a_{ijk}^{(1)} = \tilde{a}_{ijk} b_{ijk}.$$

From (2.10), (2.13), we have

$$(3.3) \quad \beta^{(1)} := \sum_{i,j=1}^n \sum_{k=1}^m |a_{ijk}^{(1)}| \leq \beta < 1.$$

By Theorem 3, there exists a unique function

$$F^{[1]} = (F_1^{[1]}, \dots, F_n^{[1]}) \in C(I, R^n)$$

being the solution of the system

$$(3.4) \quad F_i^{[1]}(x) = \sum_{j=1}^n \sum_{k=1}^m a_{ijk}^{(1)} F_j^{[1]}(S_{ijk}(x)) + g'_i(x), \quad i = 1, 2, \dots, n, x \in I.$$

Moreover, from the uniqueness, this solution is also the derivative $f' = (f'_1, \dots, f'_n)$ of f .

Similarly, we consider the case of $f \in C^r(I; R^n)$ being the solution of the system (2.11) corresponding to $g \in C^r(I; R^n)$. Differentiating r times two members of (2.11), we have

$$(3.5) \quad f_i^{(r)}(x) = \sum_{j=1}^n \sum_{k=1}^m \tilde{a}_{ijk} b_{ijk}^r f_j^{(r)}(S_{ijk}(x)) + g_i^{(r)}(x), \quad i = 1, 2, \dots, n, x \in I.$$

From (2.10), (2.13), we denote

$$(3.6) \quad \beta^{(r)} = \sum_{i,j=1}^n \sum_{k=1}^m |\tilde{a}_{ijk} b_{ijk}^r| \leq \beta < 1.$$

Therefore, the following system

$$(3.7) \quad F_i^{[r]}(x) = \sum_{j=1}^n \sum_{k=1}^m \tilde{a}_{ijk} b_{ijk}^r F_j^{[r]}(S_{ijk}(x)) + g_i^{(r)}(x), \quad i = 1, 2, \dots, n, \quad x \in I,$$

has a unique solution

$$(3.8) \quad F^{[r]} = (F_1^{[r]}, \dots, F_n^{[r]}) \in C(I; R^n),$$

equal to the derivative $f^{(r)} = (f_1^{(r)}, \dots, f_n^{(r)})$ of the solution f .

Therefore, we have the following theorem.

THEOREM 4. *Let $g \in C^r(I; R^n)$. Then there exist $f \in C^r(I; R^n)$ and $F^{[r]} \in C(I; R^n)$ being the unique solutions of the systems (2.11) and (3.7), respectively. Moreover, $F^{[r]}$ is the r -order derivative of f .*

Remark 4. In the case of $I = R$, we suppose additionally that the real numbers \tilde{a}_{ijk} , b_{ijk} , c_{ijk} satisfy the condition

$$(3.9) \quad \max_{0 \leq s \leq r} \sum_{i,j=1}^n \sum_{k=1}^m |\tilde{a}_{ijk} b_{ijk}^s| < 1.$$

Then, if

$$(3.10) \quad g \in C_b^r(I; R^n) = \{g \in C_b(I; R^n) / g^{(1)}, g^{(2)}, \dots, g^{(r)} \in C_b(I; R^n)\},$$

the conclusion of Theorem 4 is still true, where the functional spaces $C(I; R^n)$ and $C^r(I; R^n)$ appearing in Theorem 4 are replaced by $C_b(I; R^n)$ and $C_b^r(I; R^n)$, respectively. The proof of this result is the same as that of Theorem 4.

Now we return to the same case of $I = [-b, b]$. Suppose that $f \in C^p(I; R^n)$ is the unique solution of (2.11) corresponding to $g \in C^p(I; R^n)$. For each $r = 1, 2, \dots, p$, we have $F^{[r]}$ as in Theorem 4. Then, from Maclaurin formula we have

$$(3.11) \quad f_i(x) = \sum_{r=0}^{p-1} \frac{f_i^{(r)}(0)}{r!} x^r + \frac{1}{(p-1)!} \int_0^x (x-t)^{p-1} f_i^{(p)}(t) dt, \quad i = 1, 2, \dots, n.$$

On the other hand, we have

$$(3.12) \quad F^{[r]} = f^{(r)}, \quad r = 1, 2, \dots, p.$$

Put $F^{[0]} = f$. From (3.11), (3.12) we have

(3.13)

$$f_i(x) = \sum_{r=0}^{p-1} \frac{F_i^{[r]}(0)}{r!} x^r + \frac{1}{(p-1)!} \int_0^x (x-t)^{p-1} F_i^{[p]}(t) dt, \quad i = 1, 2, \dots, n.$$

Inversely, suppose that a function $\tilde{f} = (\tilde{f}_1, \dots, \tilde{f}_n) \in C(I; R^n)$ is given by the formula

(3.14)

$$\tilde{f}_i(x) = \sum_{r=0}^{p-1} \frac{F_i^{[r]}(0)}{r!} x^r + \frac{1}{(p-1)!} \int_0^x (x-t)^{p-1} F_i^{[p]}(t) dt, \quad i = 1, 2, \dots, n, .$$

Then, from (3.12), (3.14) we have

$$(3.15) \quad \tilde{f}_i(x) = \sum_{r=0}^{p-1} \frac{f_i^{(r)}(0)}{r!} x^r + \frac{1}{(p-1)!} \int_0^x (x-t)^{p-1} f_i^{(p)}(t) dt = f_i(x),$$

$i = 1, 2, \dots, n, x \in I.$

Therefore \tilde{f} is a solution of (2.11).

Then, we have the following theorem.

THEOREM 5. *Let $g \in C^p(I; R^n)$. Then, the solution $f \in C^p(I; R^n)$ of (2.11) is represented by (3.13), where $F^{[r]} \in C(I; R^n)$ is the unique solution of (3.7). Inversely, every function $f \in C^p(I; R^n)$ represented by (3.13) is a solution of (2.11).*

Remark 5. We consider the case $I = R$ and the real numbers \tilde{a}_{ijk} , b_{ijk} , c_{ijk} satisfying the condition (3.9). If $g \in C_b^p(I; R^n)$, the conclusion of Theorem 5 is still true, where the functional spaces $C(I; R^n)$ and $C^p(I; R^n)$ appearing in Theorem 5 are replaced by $C_b(I; R^n)$ and $C_b^p(I; R^n)$, respectively.

Returning to the case of $I = [-b, b]$ we have the following corollary.

COROLLARY 1. *If g_i, \dots, g_n are polynomials of degree not greater than $r-1$, the solution f of (2.11) is also a sequence of such polynomials.*

Proof. We have

$$(3.16) \quad g_i^{(r)}(x) = 0, i = 1, 2, \dots, n, x \in [-b, b].$$

Then $F^{[r]} = 0$ is the unique solution of the system (3.7). Applying (3.13) with $p = r$, we have

$$(3.17) \quad f_i(x) = \sum_{s=0}^{r-1} \frac{F_i^{[s]}(0)}{s!} x^s.$$

THEOREM 6. Suppose that $f \in C^p(I; R^n)$ is the solution of the system (2.11) corresponding to $g \in C^p(I; R^n)$ and that \tilde{f} is the sequence of polynomials of degree not greater than $p-1$ and satisfies the system (2.11) corresponding to $\tilde{g} = (\tilde{g}_1, \dots, \tilde{g}_n)$, where

$$(3.18) \quad \tilde{g}_i(x) = \sum_{r=0}^{p-1} \frac{g_i^{(r)}(0)}{r!} x^r, \quad i = 1, 2, \dots, n.$$

Then, we have

$$(3.19) \quad \|f - \tilde{f}\|_X \leq \frac{1}{1-\beta} \frac{b^p}{p!} \|g^{(p)}\|_X.$$

PROOF. We have Maclaurin expansion of $g_i(x)$ in the form

$$(3.20) \quad g_i(x) = \tilde{g}_i(x) + \frac{1}{(p-1)!} \int_0^x (x-t)^{p-1} g_i^{(p)}(t) dt.$$

Applying the estimate (2.7) with $\alpha = \beta$, we have

$$(3.21) \quad \|f - \tilde{f}\|_X \leq \frac{1}{1-\beta} \|g - \tilde{g}\|_X.$$

From (3.20) we have

$$(3.22) \quad \begin{aligned} \|g - \tilde{g}\|_X &= \sup_{|x| \leq b} \sum_{i=1}^n |g_i(x) - \tilde{g}_i(x)| \\ &= \frac{1}{(p-1)!} \sup_{|x| \leq b} \sum_{i=1}^n \left| \int_0^x (x-t)^{p-1} g_i^{(p)}(t) dt \right|, \end{aligned}$$

where

$$(3.23) \quad \begin{aligned} \sum_{i=1}^n \left| \int_0^x (x-t)^{p-1} g_i^{(p)}(t) dt \right| &\leq \int_0^x (x-t)^{p-1} \|g^{(p)}(t)\| dt \\ &\leq \|g^{(p)}\|_X \frac{x^p}{p} \leq \|g^{(p)}\|_X \frac{b^p}{p} \end{aligned}$$

for $0 \leq x \leq b$. Similarly, for $-b \leq x \leq 0$ the inequality (3.23) is still true. Therefore, from (3.22), (3.23) we have

$$(3.24) \quad \|g - \tilde{g}\|_X \leq \|g^{(p)}\|_X \cdot \frac{b^p}{p!}$$

and, by (3.21), we get (3.19).

COROLLARY 2. If for $g \in C^\infty(I; R^n)$ there exists $d > 0$ such that

$$(3.25) \quad \|g^{(p)}\|_X \leq d^p, \quad p = 0, 1, 2, \dots$$

and f is a solution of the system (2.11) corresponding to g and $\tilde{f}^{[p]}$ being the sequence of polynomials of degree not greater than $p-1$ satisfies the system (2.11) corresponding to \tilde{g} as in Theorem 6, then

$$\lim_{p \rightarrow \infty} \|f - \tilde{f}^{[p]}\|_X = 0.$$

Moreover, we have the estimates

$$(2.26) \quad \|f - \tilde{f}^{[p]}\|_X \leq \frac{1}{1-\beta} \cdot \frac{(bd)^p}{p!}, \quad p = 1, 2, \dots$$

Proof. The estimates (3.19) and (3.25) imply (3.26).

COROLLARY 3. Let $g \in C(I; R^n)$ and f be the solution of the system (2.11) corresponding to g . Then, there exists a sequence of polynomials of degree non greater than $p-1$: $\tilde{f}^{[p]} = (\tilde{f}_1^{[p]}, \dots, \tilde{f}_n^{[p]})$ such that

$$(2.27) \quad \lim_{p \rightarrow \infty} \|\tilde{f}^{[p]} - f\|_X = 0.$$

Proof. According to Weierstrass theorem, each function g_i is approximated by a sequence of polynomials converging uniformly to $p_i^{[p]}$ when the degree $p-1 \rightarrow +\infty$. Therefore, $p^{[p]} = (p_1^{[p]}, \dots, p_n^{[p]})$ converges in $C(I; R^n)$ to g when $p \rightarrow +\infty$. Let $\tilde{f}^{[p]}$ be a polynomial solution of (2.11) corresponding to $g = p^{[p]}$. According to the estimate (3.21) we have

$$(2.28) \quad \|\tilde{f}^{[p]} - f\|_X \leq \frac{1}{1-\beta} \|p^{[p]} - g\|_X \rightarrow 0.$$

as $p \rightarrow +\infty$.

4. Numerical results

In this part, we consider the algorithm (2.8) with $I = [-b, b]$. More concretely, for $x \in [-b, b]$ and $1 \leq i \leq n$, we put

$$(4.1) \quad f_i^{(\nu)}(x) = \sum_{j=1}^n \sum_{k=1}^m a_{ijk} [x, f_j^{(\nu-1)}(S_{ijk}(x))] + g_i(x),$$

$$(4.2) \quad f_i^{(0)}(x) = 0,$$

Basing on (4.1), we calculate the values $f_i^{(\nu)}(x_\mu)$ at some discrete points

$$(4.3) \quad x_\mu = -b + \mu\Delta x, \quad \Delta x = 2b/N, \quad \mu = 0, 1, \dots, N.$$

Afterwards, we interpolate the values $f_i^{(\nu)}(x_\mu)$ by spline functions of first degree on $[-b, b]$, basing on the knot points x_0, x_1, \dots, x_N ,

$$(4.4) \quad \tilde{f}_i^{(\nu)}(x) = \sum_{\mu=0}^N \tilde{f}_i^{(\nu)}(x_\mu) W_\mu(x),$$

where the functions $W_0(x), W_1(x), \dots, W_N(x)$ are defined as follows

$$(4.5) \quad W_\mu(x) = \begin{cases} (x - x_{\mu-1})/\Delta x & \text{for } x_{\mu-1} \leq x \leq x_\mu, \\ (x_{\mu+1} - x)/\Delta x & \text{for } x_\mu \leq x \leq x_{\mu+1}, \\ 0 & \text{for } x \notin [x_{\mu-1}, x_{\mu+1}], \end{cases} \quad 1 \leq \mu \leq N-1,$$

$$(4.6) \quad W_0(x) = \begin{cases} (x_1 - x)/\Delta x, & -b \leq x \leq x_1, \\ 0, & x_1 \leq x \leq b, \end{cases}$$

$$(4.7) \quad W_N(x) = \begin{cases} (x - x_{N-1})/\Delta x, & x_{N-1} \leq x \leq b, \\ 0, & -b \leq x \leq x_{N-1}. \end{cases}$$

Put

$$(4.8) \quad \tilde{f}_{i\mu}^{(\nu)} = \tilde{f}_i^{(\nu)}(x_\mu).$$

From there, we define $\tilde{f}_{i\mu}^{(\nu)}$ by recurrence according to repeat steps $\nu = 1, 2, \dots$

$$(4.9) \quad \tilde{f}_{i\mu}^{(\nu)} = \sum_{j=1}^n \sum_{k=1}^m a_{ijk} [x_\mu, \sum_{\eta=0}^N \tilde{f}_{j\eta}^{(\nu-1)} W_\eta(S_{ijk}(x_\mu))] + g_i(x_\mu),$$

$$0 \leq \mu \leq N, \quad 1 \leq i \leq n, \quad \nu \geq 1,$$

$$(4.10) \quad \tilde{f}_{i\mu}^{(0)} \equiv 0.$$

Numerical application is effectuated on the two following examples

EXAMPLE 1. Case of nonlinearity. Consider the following system with $n = 2, m = 1, b = 1, x \in [-1, 1]$.

$$(4.11) \quad \begin{cases} f_1(x) = \frac{1}{100} \sin f_1\left(\frac{x}{2} + \frac{1}{3}\right) + \frac{1}{200} \left| f_2\left(\frac{x}{3} + \frac{1}{2}\right) \right| + g_1(x), \\ f_2(x) = \frac{1}{200} f_1\left(\frac{x}{3} + \frac{1}{2}\right) + \frac{1}{100} \cos f_2\left(\frac{x}{3} + \frac{1}{2}\right) + g_2(x), \end{cases}$$

where

$$(4.12) \quad \begin{cases} g_1(x) = x - \frac{1}{200} \left(\frac{x}{3} + \frac{1}{2}\right)^2 - \frac{1}{100} \sin\left(\frac{x}{2} + \frac{1}{3}\right), \\ g_2(x) = x^2 - \frac{1}{200} \left(\frac{x}{3} + \frac{1}{2}\right) - \frac{1}{100} \cos\left(\frac{x}{3} + \frac{1}{2}\right)^2. \end{cases}$$

The exact solution of the system (4.11), (4.12) is

$$(4.13) \quad f_1^{ex}(x) = x, \quad f_2^{ex}(x) = x^2.$$

We calculate with algorithm (4.9), (4.10) until ν^{th} repeat step satisfying

$$(4.14) \quad \max_{\substack{0 \leq \mu \leq N \\ 1 \leq i \leq 2}} |\tilde{f}_{i\mu}^{(\nu)} - \tilde{f}_{i\mu}^{(\nu-1)}| < 10^{-8}.$$

Afterwards, let N increase respectively with $N = 5, 10, 15, 20, 100$. The result given by the tables 1, 2 as follows indicate the calculating values $\tilde{f}_{i\mu}^{(\nu)}$ comparing to the exact values $f_i^{ex}(x_\mu)$ at knot-points x_μ , $0 \leq \mu \leq N = 5$. The tables 3 and 4 give the result of variation of error when N increase gradually.

μ	$\tilde{f}_{1\mu}^{(\nu)}$	$f_1^{ex}(x_\mu)$	$E_{1\mu}$
0	-1.000	-1.000	0.000061
1	-0.600	-0.600	0.000149
2	-0.200	-0.200	0.000193
3	0.200	0.200	0.000060
4	0.600	0.600	0.000149
5	1.000	1.000	0.000194

Table 1: $N = 5$, $E_{1\mu} = |\tilde{f}_{1\mu}^{(\nu)} - f_1^{ex}(x_\mu)|$

μ	$\tilde{f}_{2\mu}^{(\nu)}$	$f_2^{ex}(x_\mu)$	$E_{2\mu}$
0	1.000	1.000	0.000004
1	0.360	0.360	0.000071
2	0.040	0.040	0.000239
3	0.040	0.040	0.000372
4	0.359	0.360	0.000525
5	1.000	1.000	0.000251

Table 2: $N = 5$, $E_{2\mu} = |\tilde{f}_{2\mu}^{(\nu)} - f_2^{ex}(x_\mu)|$

Table 3.

Table 4.

N	$e_1 = \max_{0 \leq \mu \leq N} E_{1\mu}$	$e_2 = \max_{0 \leq \mu \leq N} E_{2\mu}$
5	0.000194	0.000525
10	0.000049	0.000429
15	0.000020	0.000415
20	0.000010	0.000406
100	0.000002	0.000397

EXAMPLE 2. Case of linearity : $a_{ijk}(x, y) = \tilde{a}_{ijk}y$. Consider the following system with $n = m = 2$, $b = 1$, $-1 \leq x \leq 1$,

(4.15)

$$\begin{cases} f_1(x) = \frac{1}{100}f_1\left(\frac{x}{2} + \frac{1}{3}\right) + \frac{1}{200}f_2\left(\frac{x}{2} + \frac{1}{4}\right) + \frac{1}{200}f_2\left(\frac{x}{3} + \frac{1}{2}\right) + g_1(x), \\ f_2(x) = \frac{1}{200}f_1\left(\frac{x}{3} + \frac{1}{2}\right) + \frac{1}{200}f_1\left(\frac{x}{2} + \frac{1}{3}\right) + \frac{1}{100}f_2\left(\frac{x}{3} + \frac{1}{4}\right) + g_2(x), \end{cases}$$

where

$$(4.16) \quad \begin{cases} g_1(x) = \frac{97}{100}x - \frac{31}{1200}, \\ g_2(x) = \frac{7171}{1200}x - \frac{23}{1200}. \end{cases}$$

The numbers \tilde{a}_{ijk} , \tilde{b}_{ijk} , \tilde{c}_{ijk} , with i, j, k equal to 1 or 2 satisfy (2.10), (2.13), (2.14). The exact solution of (4.15), (4.16) is

$$f_1^{ex}(x) = x, \quad f_2^{ex}(x) = 6x.$$

We calculate by algorithm (4.9), (4.10) with repeat steps $\nu = 1, 2, 3, \dots$ such that

$$(4.17) \quad \max_{\substack{1 \leq i \leq 2, \\ 0 \leq \mu \leq N}} |\tilde{f}_{i\mu}^{(\nu)} - \tilde{f}_{i\mu}^{(\nu-1)}| < 10^{-8}.$$

The result given by the tables 5 and 6 as follows indicate the calculating values $\tilde{f}_{i\mu}^{(\nu)}$ comparing to the exact values $f_i^{ex}(x_\mu)$ at knot-points $\mu_0, \mu_1, \dots, \mu_5$ for $N = 5$.

μ	$\tilde{f}_{1\mu}^{(\nu)}$	$f_1^{ex}(x_\mu)$	$E_{1\mu}$
0	-1.000	-1.000	0.000000
1	-0.600	-0.600	0.000000
2	-0.200	-0.200	0.000000
3	0.200	0.200	0.000000
4	0.600	0.600	0.000000
5	1.000	1.000	0.000000

Table 5: $N = 5$, $E_{1\mu} = |\tilde{f}_{1\mu}^{(\nu)} - f_1^{ex}(x_\mu)|$, $\max_{0 \leq \mu \leq 5} E_{1\mu} = 3.035150 \cdot 10^{-11}$.

μ	$\tilde{f}_{2\mu}^{(\nu)}$	$f_2^{ex}(x_\mu)$	$E_{2\mu}$
0	-6.000	-6.000	0.000000
1	-3.600	-3.600	0.000000
2	-1.200	-1.200	0.000000
3	1.200	1.200	0.000000
4	3.600	3.600	0.000000
5	6.000	6.000	0.000000

Table 6: $N = 5$, $E_{2\mu} = |\tilde{f}_{2\mu}^{(\nu)} - f_2^{ex}(x_\mu)|$, $\max_{0 \leq \mu \leq 5} E_{2\mu} = 3.035150 \cdot 10^{-11}$.

References

- [1] C. Q. Wu, Q. W. Xuan, D. Y. Zhu, *The system of the functional equations and the fourth problem of the hyperbolic system*, SEA Bull. Math. 15, (1991) 109–115.
- [2] T. Kostrzewski, *Existence and uniqueness of $BC[a, b]$ solutions of nonlinear functional equation*, Demonstratio Math. 26, (1993), 61–74.
- [3] T. Kostrzewski, *BC -solutions of nonlinear functional equation. A nonuniqueness case*, Demonstratio Math. 26, (1993), 275–285.
- [4] M. Lupa, *On solutions of a functional equation in a special class of functions*, Demonstratio Math. 26, (1993), 137–147.

Addresses of authors:

Nguyen Thanh Long:

DEPARTMENT OF MATHEMATICS, COLLEGE OF GENERAL STUDIES,
VIETNAM NATIONAL UNIVERSITY - HO CHI MINH CITY,
268 Ly Thuong Kiet str. dist. 10,
HO CHI MINH CITY, VIETNAM.

Nguyen Hoi Nghia:

DEPARTMENT OF MATHEMATICS AND COMPUTER SCIENCE,
NATIONAL UNIVERSITY AT HO CHI MINH CITY,
227 Nguyen van Cu str. dist. 5,
HO CHI MINH CITY, VIETNAM;

Nguyen Kim Khoi:

BRANCH OF INSTITUTE OF INFORMATION TECHNOLOGY,
HO CHI MINH CITY, VIETNAM;

Dinh Van Ruy:

COOPERATOR AT DEPARTMENT OF MATHEMATICS,
COLLEGE OF GENERAL STUDIES,
VIETNAM NATIONAL UNIVERSITY - HO CHI MINH CITY,
268 Ly Thuong Kiet str. dist. 10,
HO CHI MINH CITY, VIETNAM;

Received February 10, 1997.